12@0381 (K12a0381)

RN Linearized knot diagam
S IN
Y SR

2 /369107212541811
/”ﬂ\

3 Solving Sequence

712528 >6—>3—>5—>9—>11—>1—> 10 > 4 —>> C1,C3,C9
Ccr Ce Cy4

A knot diagrarrﬂ C2 C5 Cg C11 Ci2 Cio

Ideals for irreducible component#ﬂ)f Xpar

I =(b—u, v —u* +- +2a+u, v —u?? - F 4+ 1)

I¥ = (—1.58008 x 10%°u5% 4 4.09523 x 10345 + - .. 4+ 2.14580 x 10°°b 4 1.44290 x 10*!,
—1.35351 x 103155 4 4.37094 x 10325 + - - 4+ 3.00412 x 103'a — 1.14573 x 107,
u% — 2% + . 4190+ 7)

I} = (b+u, a® +2au —4a —3u+1, u? —u+ 1)
I'={(b+u, a+u+2 u>+u+1)
IF={®-u+1, a*+2u, v> —u+1)
IP={b-u—-1,a v>+u+1)

* 6 irreducible components of dim¢ = 0, with total 101 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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https://github.com/CATsTAILs/LinksPainter

LI*=®b-—u, u2—u?'+-.-4+2a+u, u*> —u?? ... +4u®+1)

(i) Arc colorings

ag = u2
_§u22+1u21_~_..__gu3+u>
1ol — 1418 4 +;u2+§>
a5 = ’LL2
— 122 u21+~-~+2u2+%)
ag = _%u21 %U20+" _3u2_%

(
(
(
(
-
(
(
(
(

—ub —u
w +u+2ud +u
%u21_%u20+._.+4u2+%
ag= \Iy2 - 5204 po2 4]

(ii) Obstruction class = —1

(iii) Cusp Shapes
= —5u?? +3u?! — 16620 +6u'® —53u'® + 170" — 10108 + 17ut® — 1740t + Tul® — 224412 —
20utt — 239010 — 7502 — 20948 — 97u” — 132u8 — 106wu® — 73ut — 72u3 — 27w — 1Tu —9



(iv) u-Polynomials at the component

Crossings

u-Polynomials at each crossing

C1,C5,C10

C12

uB T 4 —8u—1

C2,Cg, C7

C11

W 22 4+ 1

C3,C4,C9

u® +5u? o du 4

C8

u?® — 15u®? + -+ + 2004u — 332




(v) Riley Polynomials at the component

Riley Polynomials at each crossing

Crossings
C1,Cs5,C10 y23+23y22_~_.“_4y_1
C12
Co,Cg, C7 y23+7y22+-"—8iy—1
C11
c3,C4,Cy y? —21y?2 4 ... — 48y — 16
cs8 y* — 2 4+ - 4 356048y — 110224




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1C)

Cusp shape

u = —0.108766 + 1.0389601
a = —0.14445 + 2.160711
b= —0.108766 + 1.0389601

—9.31458 — 4.236641

—14.9374 4 4.25181

u = —0.108766 — 1.0389601
—0.14445 — 2.160711
b= —0.108766 — 1.0389601

—9.31458 4 4.236641

—14.9374 — 4.25181

0.062381 + 0.9531101
0.17223 + 1.918801
b= 0.062381 + 0.9531101

u =

a =

—3.67662 + 1.639781

—11.45625 — 4.685351

uw=0.062381 — 0.9531101
= 0.17223 — 1.918801
0.062381 — 0.9531101

—3.67662 — 1.639781

—11.45625 +- 4.685351

0.878988 + 0.7051661
—1.38624 — 0.523831
0.878988 + 0.7051661

4.20055 — 4.174201

—1.40540 4 0.691571

0.878988 — 0.7051661
= —1.38624 4 0.523831
= 0.878988 — 0.7051661

4.20055 + 4.174201

—1.40540 — 0.691571

= —0.709127 4 0.8983841
3.06567 — 0.322071

—2.78113 — 5.449001

—3.47285 4+ 6.340231

—0.709127 — 0.8983841
3.06567 + 0.322071
—0.709127 — 0.8983841

—2.78113 + 5.449001

—3.47285 — 6.340231

—0.868691 + 0.7695321
1.60761 — 0.459001
—0.868691 + 0.7695321

9.09763 — 0.311871

2.24462 + 1.408301

= —0.868691 — 0.7695321
= 1.60761 + 0.459001

b
U
a
b
U
a
b
U
a
b= —0.709127 + 0.8983841
U
a
b
U
a
b
U
a
b= —0.868691 — 0.7695321

9.09763 + 0.311871

2.24462 — 1.408301




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= 0.838998 + 0.8383261
—1.91420 — 0.344121
0.838998 + 0.8383261

6.46982 + 5.133051

—0.60159 — 5.771611

0.838998 — 0.8383261
= —1.91420 + 0.344121
= 0.838998 — 0.8383261

6.46982 — 5.133051

—0.60159 + 5.771611

= 0.780652 + 0.9672491
= —2.39587 + 0.312501
= 0.780652 + 0.9672491

5.63176 4 7.019451

—1.80788 — 4.378011

0.780652 — 0.9672491
—2.39587 — 0.312501
0.780652 — 0.9672491

5.63176 — 7.019451

—1.80788 + 4.378011

= —0.320435 + 0.6783191
= —1.41963 + 0.052231

—5.40470 — 2.532541

—9.43035 + 2.232231

—0.320435 — 0.6783191
= —1.41963 — 0.052231
= —0.320435 — 0.6783191

5.40470 4 2.532541

—9.43035 — 2.232231

= —0.770543 + 1.0189701
= 2.33411 4 0.646641
= —0.770543 4 1.0189701

7.50703 — 11.941601

—0.51059 + 8.650401

= —0.770543 — 1.0189701
= 2.33411 — 0.646641
= —0.770543 — 1.0189701

7.50703 + 11.941601

—0.51059 — 8.650401

= 0.748511 + 1.0491301
= —2.32792 4 0.882021
= 0.748511 + 1.0491301

2.0337 + 16.31521

—4.71784 — 9.863181

= 0.748511 — 1.0491301
= —2.32792 — 0.882021

u
a
b
u
a
b
u
a
b
u
a
b
u
a
b= —0.320435 + 0.6783191
u
a
b
u
a
b
u
a
b
u
a
b
u
a
b= 0.748511 — 1.0491301

2.0337 — 16.31521

—4.71784 4 9.863181




Solutions to I Vv—1(vol + +/—1CS) Cusp shape
u = —0.538161
a= 0.226955 —2.63402 —1.54930

b= —0.538161
= 0.237113 + 0.4416351

a= 0.295194 — 0.0255371
b= 10.237113 + 0.4416351

—0.109440 4 0.9670231

—2.12980 — 6.928151

0.237113 — 0.4416351
0.295194 + 0.0255371
b= 10.237113 — 0.4416351

—0.109440 — 0.9670231

—2.12980 + 6.928151




II. I} = (—1.58 x 10%%u%5 + 4.10 x 10%%u%* 4 ... 4+ 2.15 x 10%°b 4 1.44 X
1031, —1.35 x 103'u% + 4.37 x 10314 ... 4+ 3.00 x 103'a — 1.15 X
1030, u% — 2485 4 ... +19u + 7)

(i) Arc colorings

= (o)

o= ()
0.450551u% — 1.45498u5* + - .- 4 0.601985u + 0.0381388
az = 0.736361u% — 1.90849u5* + - .- — 17.1039u — 6.72429
o= ()
0.880632u% — 0.628257ub* + - - - 4+ 10.5151u + 7.47661
ag = \0.134748u% — 0.326968ub* + - - - + 19.1692u + 3.77720
0.541655u% — 1.07474u5%* + - - - + 13.2018u + 5.03970
az = | 0.859372ub — 2.24529u54 + - .. + 1.06882u — 2.22730
1.01538u% — 0.955224u%* + - .- 4+ 29.6843u + 11.2538
as = \0.134748u% — 0.326968u%* + - - - 4+ 19.1692u + 3.77720
—0.644879u% + 1.15798u5%* + - - - 4+ 2.59190u + 1.58917
ag = \ —0.317784u%% — 0.0128892ub% + .- . — 7.61429u — 2.11502
<us )
<u5 =+ ud + u>
—u — U
a10 = \u” +u® +2ud +u

1.40413u%% — 1.90048u%* + - - - + 6.61630u + 4.46567
s = \0.103837u% — 0.390389u%* + - - - + 18.6949u + 4.37292

(ii) Obstruction class = —1

(iii) Cusp Shapes = —0.117014u% + 1.08091u5* + - .- — 52.4974u — 13.7114



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1+ €5, €10 ub +22u% 4 .. 4 591u + 49
C12
C2,Cq, C7 u66_2u65_~_.“+19u+7
C11
€3, Cq, Cy (U — 2032 + - 4 5ud — 2)?
C8 (U + 6u3? + - - - + 84u + 22)?




(v) Riley Polynomials at the component

Riley Polynomials at each crossing

Crossings
C1,Cs5,C10 y66 + 46y65 + -+ 47227y + 2401
C12
C2,Cg,CT y66+22y55+...+591y+49
C11
c3,C4,Cy (y33 — 30y + - — T2y — 4)2
cs (5% + 10y%2 + - + 808y — 484)?

10



(vi) Complex Volumes and Cusp Shapes

Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

0.780007 + 0.7028961
0.060274 + 0.2749001
—0.217053 + 1.1234101

—3.25939 — 4.109221

—6.90114 + 3.209901

0.780007 — 0.7028961
0.060274 — 0.2749001
—0.217053 — 1.1234101

—3.25939 + 4.109221

—6.90114 — 3.209901

—0.711321 4+ 0.7912971

= —0.056822 + 0.1872121 1.24121 + 0.802871 0
= 0.331350 + 1.0608701
= —0.711321 — 0.7912971
= —0.056822 — 0.1872121 1.24121 — 0.802871 0

0.331350 — 1.0608701

0.718922 4 0.7978421
1.47367 — 0.639831
—0.435907 — 1.0785501

—1.97159 + 3.238291

—4.00000 — 3.705821

0.718922 — 0.7978421
1.47367 + 0.639831
—0.435907 + 1.0785501

—1.97159 — 3.238291

—4.00000 + 3.705821

—0.252240 + 0.8905721

= —0.682248 + 0.1444031

—0.442341 + 0.3283091

—5.30265 — 2.577751

—8.82504 + 3.794771

—0.252240 — 0.8905721
—0.682248 — 0.1444031
—0.442341 — 0.3283091

—5.30265 + 2.577751

—8.82504 — 3.794771

—0.713764 + 0.8430031

= 1.58827 4 1.875851 —2.60888 0
= —0.713764 — 0.8430031
= —0.713764 — 0.8430031
= 1.58827 — 1.875851 —2.60888 0

> Q& €| & €| & €| & €| & | & 8| & €|l & 8|l & €| & &
I

—0.713764 + 0.8430031
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Solutions to I3

V=1(vol + y/=1CS)

Cusp shape

= 0.587924 + 0.9380531
= 1.54849 — 0.693331
= —0.233499 — 0.8067421

—0.73076 + 3.393951

= 0.587924 — 0.9380531
= 1.54849 4 0.693331
= —0.233499 + 0.8067421

—0.73076 — 3.393951

= 0.786418 + 0.7823141
0.842464 — 0.4493921
= —0.769109 + 0.1324181

0.933995 — 0.9336781

0.786418 — 0.7823141
0.842464 + 0.4493921
—0.769109 — 0.1324181

0.933995 + 0.9336781

0.331350 + 1.0608701
—0.181882 + 0.0447321

1.24121 4 0.802871

= 0.331350 — 1.0608701
= —0.181882 — 0.0447321
= —0.711321 — 0.7912971

1.24121 — 0.802871

= 0.884836 + 0.6755201
= —1.46006 + 0.369571
= 0.759584 — 1.0335201

3.18615 — 10.257001

= 0.884836 — 0.6755201
= —1.46006 — 0.369571
= 0.759584 + 1.0335201

3.18615 + 10.257001

= 0.258928 + 1.0904301
= 1.03310 — 1.354431
= —0.704139 — 0.9386361

0.78565 + 6.239561

0.258928 — 1.0904301
= 1.03310 + 1.354431

u
a
b
u
a
b
u
a
b
u
a
b
u
a
b= —-0.711321 + 0.7912971
u
a
b
u
a
b
u
a
b
u
a
b
u
a
b= —0.704139 + 0.9386361

0.78565 — 6.239561
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Solutions to I3 V—=1(vol + /=1CS) Cusp shape
= —0.572109 + 0.9869991
= —1.90024 — 0.841101 —6.63294 — 1.737151 0
= —0.026298 — 0.856856.1
= —0.572109 — 0.9869991
= —1.90024 + 0.841101 —6.63294 4 1.737151 0

= —0.026298 + 0.856856.1

= 0.511863 + 0.6893771
= 0.553781 — 0.1031471
= —0.239361 + 0.5304341

0.050783 + 1.1250101

—3.91132 — 5.66806.1

= 0.511863 — 0.6893771
= 0.553781 + 0.1031471
= —0.239361 — 0.5304341

0.050783 — 1.1250101

—3.91132 + 5.66806.1

= —0.875841 + 0.7332681

—0.784228 4 0.9963671

1.41304 + 0.586671 8.39261 + 5.828171 0
= —0.784228 — 0.9963671
= —0.875841 — 0.7332681

1.41304 — 0.586671 8.39261 — 5.828171 0

= —0.026298 + 0.8568561
= 1.55713 — 2.285401
= —0.572109 — 0.9869991

—6.63294 + 1.737151

—11.77893 — 2.626691

= —0.026298 — 0.8568561
= 1.55713 + 2.285401
= —0.572109 + 0.9869991

—6.63294 — 1.737151

—11.77893 + 2.626691

= —0.217053 + 1.1234101

= 0.780007 — 0.7028961

= 0.244597 + 0.082892 | —3.25939 — 4.109221 0
= 0.780007 + 0.702896.1
= —0.217053 — 1.1234101
= 0.244597 — 0.0828927 | —3.25939 + 4.109221 0
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Solutions to I3

V=1I(vol + /=1CS)

Cusp shape

= —0.233499 + 0.8067421
= —1.71181 — 1.439207
0.587924 — 0.9380531

—0.73076 — 3.393951

—8.06022 + 0.668221

—0.233499 — 0.8067421
= —1.71181 + 1.439201
0.587924 + 0.9380531

—0.73076 + 3.393951

—8.06022 — 0.668221

—0.760681 + 0.8773221

= —0.475703 — 1.0940701

U

a

b

U

a

b

U

a = —0.884877 — 0.4733021 4.54074 — 2.875331 0
b= 10.759107 — 0.0443081

u = —0.760681 — 0.8773221

a = —0.884877 4 0.4733021 4.54074 + 2.875331 0
b= 10.759107 + 0.0443081

u= 0.843301 4+ 0.7987351

a = —1.35150 + 0.896131 6.15793 — 0.963901 0
b= 10.797643 — 0.9371641

u= 0.843301 — 0.7987351

a = —1.35150 — 0.896131 6.15793 + 0.963901 0
b= 10.797643 + 0.9371641

u = —0.182118 + 1.1481907

a = —0.87619 — 1.472691 —4.14648 — 9.771831 0
b= 10.715657 — 0.9973671

u = —0.182118 — 1.1481901

a = —0.87619 + 1.472691 —4.14648 + 9.771831 0
b= 0.715657 4 0.9973671

u= 0.707507 4+ 0.9231881

a = —0.016161 + 0.1506041 | —2.34954 + 2.220281 0
b= —0.475703 4- 1.0940701

U 0.707507 — 0.9231881

a = —0.016161 — 0.1506041 | —2.34954 — 2.220281 0
b
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Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

= —0.435907 + 1.0785501
= —1.07615 — 1.02066.1
0.718922 — 0.7978421

—1.97159 — 3.238291

—0.435907 — 1.0785507
= —1.07615 + 1.02066.1
0.718922 4 0.7978421

—1.97159 + 3.238291

—0.704139 + 0.9386361
= —1.42101 — 0.792451
0.258928 — 1.0904301

0.78565 — 6.239561

—0.704139 — 0.9386361
—1.42101 + 0.792451
0.258928 + 1.0904301

0.78565 + 6.239561

—0.793318 4 0.1948701
= —1.54496 + 0.217241
= 0.745981 — 0.9549521

0.40872 — 6.713471

—2.25632 + 6.012051

—0.793318 — 0.1948701
—1.54496 — 0.217241
0.745981 + 0.9549521

0.40872 4 6.713471

—2.25632 — 6.012051

—0.475703 + 1.0940701
0.120730 + 0.0850391
0.707507 4+ 0.9231881

—2.34954 + 2.220281

—0.475703 — 1.0940701
0.120730 — 0.0850391
0.707507 — 0.9231881

—2.34954 — 2.220281

0.745981 + 0.9549521
0.909008 — 0.5290421
—0.793318 — 0.1948701

0.40872 4 6.713471

> Q@ €| & €|l & €| & €| Q& & & 8| & 8|l & 8|l & 8| & &g

0.745981 — 0.9549521
= 0.909008 + 0.5290421
= —0.793318 4 0.1948701

0.40872 — 6.713471
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Solutions to I3

V=1(vol + v=1C)

Cusp shape

= —0.769109 + 0.1324181
= —1.214120 — 0.6064591
= 0.786418 + 0.7823141

0.933995 — 0.9336781

—1.133669 + 0.6822171

—0.769109 — 0.1324181
—1.214120 4 0.6064591
0.786418 — 0.7823141

0.933995 + 0.9336781

—1.133669 — 0.6822171

0.715657 + 0.9973671
1.36718 — 0.874371
—0.182118 — 1.1481901

—4.14648 + 9.771831

0.715657 — 0.9973671
1.36718 + 0.874371
—0.182118 4 1.1481901

—4.14648 — 9.771831

0.797643 + 0.9371641
= —0.77688 4 1.318691
0.843301 — 0.7987351

6.15793 + 0.963901

0.797643 — 0.9371641
—0.77688 — 1.318691
0.843301 + 0.7987351

U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b

6.15793 — 0.963901

u= 0.759107 4 0.0443081
a= 1.460754 0.463131
b= —0.760681 — 0.8773221

4.54074 + 2.875331

2.79872 — 3.164131

u= 0.759107 — 0.0443081
a= 1.46075—0.463131
b= —0.760681 + 0.8773221

4.54074 — 2.875331

2.79872 + 3.164131

u = —0.784228 4- 0.9963671

a= 0.489817 + 1.2883401 8.39261 — 5.828171 0
b= —0.875841 — 0.7332681
u = —0.784228 — 0.9963671
a= 0.489817 — 1.2883401 8.39261 + 5.828171 0

b= —0.875841 + 0.7332681
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Solutions to I¢ V—=1(vol ++/—=1CS) Cusp shape
= 0.759584 4 1.0335207
= —0.297584 4 1.2728701 3.18615 + 10.257001 0
= 0.884836 — 0.6755201
= 0.759584 — 1.0335207
= —0.297584 — 1.2728701 3.18615 — 10.257001 0

= 0.884836 + 0.6755201

= —0.239361 + 0.5304341
0.264651 — 0.7878741
= 0.511863 + 0.6893771

0.050783 + 1.1250101

—3.91132 — 5.668061

—0.239361 — 0.5304341
0.264651 + 0.7878741
0.511863 — 0.6893771

0.050783 — 1.1250107

—3.91132 + 5.668061

—0.442341 + 0.3283091
= —0.760163 + 0.8917271
= —0.252240 + 0.8905721

—5.30265 — 2.577751

—8.82504 4 3.794771

= —0.442341 — 0.3283091
= —0.760163 — 0.8917271
= —0.252240 — 0.8905721

>~ Q@ €|l @ €| & €| & 8| & 8| & &
Il

—5.30265 + 2.577751

—8.82504 — 3.794771
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I I = (b+ u, a® + 2au — 4a —3u+1, u> —u+1)

(i) Arc colorings

w0

= (0)

e (8

o= (i)

w= (01)

w= (34

o (00

o= (a2
=)
(é)

m(ul)

—au+a+2u—2
a4 = \—au+a-+3u—2
(ii) Obstruction class =1

(iii) Cusp Shapes = —8u — 4

18



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,C5 (u2 _u+1)2
€7, C10
C3,C4,Cg (U2 _ 2)2
Cy
2 2
€6, C11, C12 (v +u+1)

19



(v) Riley Polynomials at the component

Crossings

Riley Polynomials at each crossing

C1,C2,Cs5
Ce6,C7,C10

C11,C12

(v* +y+1)?

C3,C4,C8

C9

(y—2)*

20



(vi) Complex Volumes and Cusp Shapes

Solutions to I v—1(vol + /—1C5) Cusp shape

0.500000 + 0.8660251
0.085786 — 0.8660251 | —4.93480 + 4.059771 | —8.00000 — 6.928201
= —0.500000 — 0.8660251

= 0.500000 + 0.8660251
= 291421 — 0.866031 —4.93480 + 4.059771 | —8.00000 — 6.928201
= —0.500000 — 0.8660251

= 0.500000 — 0.8660251
= 0.085786 + 0.8660251 | —4.93480 — 4.059771 | —8.00000 + 6.928201
= —0.500000 + 0.8660251

= 0.500000 — 0.8660251
= 291421 + 0.866031 —4.93480 — 4.059771 | —8.00000 + 6.928201
= —0.500000 + 0.8660251
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IV.I} =(b+u, a+u+2, u>)+u+1)

(i) Arc colorings

o= (1)

B
(1)
oo ()
o= (ty)
.
(1)
= ()
w=(0)

o= (ui)

(ii) Obstruction class =1

(iii) Cusp Shapes = 8u +4
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C5,Ce u2—u—|—1
€10, C11
2 1
C2,C7,C12 u® +u—+
C3,C4,C8 U2
C9
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(v) Riley Polynomials at the component

Crossings

Riley Polynomials at each crossing

C1,C2,Cs5
Ce6,C7,C10

C11,C12

y2+y+1

C3,C4,C8

C9
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(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol +/=1CS) Cusp shape
u = —0.500000 + 0.8660257
a = —1.50000 — 0.866031 —4.059771 0.+ 6.928201
b= 0.500000 — 0.8660257
u = —0.500000 — 0.8660251
a = —1.50000 + 0.866031 4.059771 0. —6.928201

b= 0.500000 4 0.8660251
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V.I=b—-—u+1,a®>+2u, u> —u-+1
5

(i) Arc colorings

0
a2 = \u
a
a2 = \uy—1
1
ag = \—u+1
au—a—+1
ae = —U
—aut+a+u—1
az = U
au—a—u+1
as = —u
—a—2u+1
a9 = \au—a—u-+1
—u
an = \u—1
1
ayp = 0
-1
a0 = \y—1

(ii) Obstruction class =1

(iii) Cusp Shapes = —8
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,C5 (u2 _u+1)2
€7, C10
C3,C4,Cg (U2 _ 2)2
Cy
2 2
€6, C11, C12 (v +u+1)
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(v) Riley Polynomials at the component

Crossings

Riley Polynomials at each crossing

C1,C2,Cs5
Ce6,C7,C10

C11,C12

(v* +y+1)?

C3,C4,C8

C9

(y—2)*
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(vi) Complex Volumes and Cusp Shapes

Solutions to I VvV—1(vol + /—1CS) Cusp shape
0.500000 + 0.8660251
0.707110 — 1.2247407 | —4.93480 —8.00000

= —0.500000 + 0.8660251

= 0.500000 + 0.8660251
= —0.707110 + 1.2247401 | —4.93480 —8.00000
= —0.500000 + 0.8660251

= 0.500000 — 0.8660251
= 0.707110 + 1.2247401 | —4.93480 —8.00000
= —0.500000 — 0.8660251

= 0.500000 — 0.8660251
= —0.707110 — 1.2247401 | —4.93480 —8.00000
= —0.500000 — 0.8660251
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VLIY=(b—-—u—1,a, u>)4+u+1)

(i) Arc colorings

o ()
o= (1)
e (L)
e (L)
e ()
e (1)
e (1)
e (1)
o= ()
w=(0)
o= (i)
e (1)

(ii) Obstruction class =1

(iii) Cusp Shapes = —6
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C5,Ce u2—u—|—1
€10, C11
2 1
C2,C7,C12 u® +u—+
C3,C4,C8 U2
C9
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(v) Riley Polynomials at the component

Crossings

Riley Polynomials at each crossing

C1,C2,Cs5
Ce6,C7,C10

C11,C12

y2+y+1

C3,C4,C8

C9
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(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ vV—1(vol +/—1CS) Cusp shape
u = —0.500000 + 0.8660257
a= 0 0 —6.00000
b= 0.500000 + 0.8660251
u = —0.500000 — 0.8660251
a= 0 0 —6.00000

b= 0.500000 — 0.8660251
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VII. u-Polynomials

Crossings u-Polynomials at each crossing
e1.cs 10 (W —u+ 1) W+ 7u*? 4+ —8u—1)
- (u® 4 22u% + -+ 591u + 49)
co, ¢ (v —u+ )Y +u4+ 1w —u?? + -+ 4?4+ 1)
(u® =205 4 4 19U+ 7)
3,4, Cy ut(u? — 2)*(u® + 5u?? 4 du 4 4) (WP - 203 - Bud - 2)?
C6, C11 (u? —u+ )W +u+ 1) —u? - 4 + 1)
(ub® — 2% 4+ 19U+ 7)
cs ut(u? — 2)*(u® — 15u%? + - - + 2004u — 332)
(U 46U - 84w+ 22)2
1o (u? 4+ u+1)% W + 7?2+ —8u—1)

- (u% 4 22055 + .- - 4 591w + 49)
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VIII. Riley Polynomials

Crossings Riley Polynomials at each crossing

€1, €55 €10 (P +y+ D92 +23y2 4+ —dy—1)

€12 (Y5 4 46y5° 4 - - - + 47227y 4 2401)
Co,Cg, C7 ((y2+y+1)6)(y23+7y22+~-~—8y—1)

c11 (Y% 4+ 22y% + - 4 591y + 49)
cyence | VW2 217 4 — 48y —16)

. (y33 _ 30y32 e 72y2 _ 4)2
cs vy — 2)%(* — y*% + - + 356048y — 110224)

(Y +10y32 + - + 808y — 484)2
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